LE DISEQUAZIONI DI SECONDO GRADO Test your skills

== TEST YOUR SKILLS

1 TEST Solve the following inequality: 4 TEST How many numbers from the set
ox=6 {—5—4,—3,—2,—1,0,1,2,3}
x—=5 . . .
satisfy the inequality — 3x? < — 142
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[€] [-2:3] (CAN Canadian Mathematics Competition, Gauss Contest, 2003)
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(0] J= o5 = 2] U [3:3 5 TEST Solvefory:i+4<y—+l.
[E] [—2;3] U ]5; 4 o[ 9 5
: . . [A] y<45
(USA North Carolina State High School Mathematics Contest, 2003)
y>45
2 Solve the following inequality: €] y<—1
(x+D(x—V2) D] y>—1
=0.
(x + 5)? [E] y<9

.. . (CAN Canadian Open Mathematics Challenge, 1996)
Express your answer in interval notation or

graph your solution on the number line.
(USA Southern Illinois University Carbondale, Final Exam, 2001)
[1=o03 = 5[ U]— 5 — 1] U [V2; +oo[ ]

5x+2
| Solve————=0. GLOSSARY
Write the answer in interval notation. to express: esprimere number line: retta
(USA North Carolina State High School Mathematics Contest, 2002) fOIIOWing: seguente numerica
2 inequality: to satisfy: soddisfare
-3 5 disequazione
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